
159April 2013 – Se priser side XX - XX

M
in

il
U

x 
(U

d
g

å
et

)

Reservedele/Måltegninger   2200, 2201, 2238

A
B

C

D E

Reservedele/Måltegninger 2200, 2201, 2238

R
es
er
ve

d
el
e

 1 200 mm U-tud    2 F960437AA 728058320
2 100 mm C-tud 2      F960438AA          728058110
 Speciel (BØRMA)   

3 Luftblander 3 F960831AA 745110395 
4 22 x 1 mm 3 F960831AA 745110395 
5 Rep. sæt f. tud 3 F960023NU 745111559 

6 O-ringe 
7 Greb kpl. med 
 spareknap kold 3 F960476AA 745111470 

7 Greb kpl. med 
 spareknap varm 3 F960475AA 745111480 

8 Greb kpl. uden 3 F960411AA 745111460 

9 Mærkeknap, sæt 3 F960435NU 745111489 
10 Dækskive 3 F960417G4 745111141
11 Tandringe 3 F960215NU 745111558 

12 Ventiloverdel 32 mm, 
     varm 3  F960035NU 745111184

12 Ventiloverdel 32 mm, 
  kold 3  F960034NU 745111185 

13  Bundpakning 
  EPDM 40 SH 10 stk. 3 F960016NU 745111621 

14 Rep. sæt 3 F960030NU 745111666
15 Løftestang kpl. 3 F960404AA 745111540 
16 Bundventil kpl. 3 H3699AA  747316110 
17 Bespænding M8 3 F960217NU 745118802
18 Kobberrør, rå M12x1 L      3       F960387NU 745111419 
18 Kobberrør, krom M12x1 L 3 F960210AA 745111410

18 Flexslange uden flet, 2 stk. 3 F960748NU 745111430
18 Kobberrør, krom M10x1 3 F960211AA 745111390
18 Kobberrør, rå M10x1 3 F960211NU 745111391

Nr. Beskrivelse K Varenr. VVS nr.                          Nr. Beskrivelse K       Varenr.                   VVS nr. 

DK_Prisliste Ideal_04.09 - 2.indd   62 13/09/06   3:56:02


